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> data <-

c (18,19, 22, 24, 25, 27, 28, 29, 32, 33, 34, 35, 37, 42,
43, 45, 48,53, 57, 69, 78)

> qgnorm(data)

> qql ine (data)
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62,64,64,64,66,65,64,66,64,66 DX
65 CE A DD

x <- ¢ (62, 64, 64, 64, 66, 65, 64, 66, 64, 66)
t. test (x, mu=65)
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Bt 5|14 |3 |3 | 5|3 |5|5]| 4

AL EBHTEN D DD ?

a<-c¢(6,4,4,46,54,6,4,06)
b<-¢5,4233,5,3,5,5,4,3)
t. test(a, b, var. equal=T)

a<-c(6,44,4,6,5 4,6 4,6)
b < c¢(5,433,53,55,4,3)
t. test (a, b, var. equal=T)
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“ERRE (DHAFELVWERETELEE)

FT—H: akb
tiE = 2.0769, BHE = 18, PfE = 0.0524
MIRER: BEHDEE, 0TIEAGL
95 /N\—t > MEFERME: -0.01039955 1.81039955
ZEARHEEE:
T EX FH{EY

4.9 4.0
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DT —A EWilcoxsonD)ENIFIREEET DE

wilcox test(a,b)

D4V VU DIERLFRE GEf £ DFHIE)

F—R: akb
W =73, P{E = 0.07744
¥ 3R E%: location shiftld, 0TIEAz LY

Z2EAvE—-Y:
In wilcox.test.default(a, b) :
BANBSBIH., EFETS p [EZEHETHENTEEEN
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ptl e alalale]s]4a]e 6
B#t| 5 4 3 3 5 3 5 5 3
AT EBHTENHDNH?
ttest(a,b)

26
t. test(a, b)
ZEXHRE (Welch® %)
F—H: aktb

tfiE = 2.0769, BHE = 17.949, P{& = 0.05244
SRS BEHOEE, 0TEHR
95 N\—tY MERERXM: -0.01058466 1.81058466
TR
Ti9fEx FifEy

49 40
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Ak 6 | 4 | 4| 4|6 | 5| 4|6 6
B 5|14 | 3| 3|5 |3|5 |5 3
EFETRTKMNDDDE U TEERE
t.test(ab,paired=T)

30

t. test(a, b, paired=T)

HIEDHHIGHE DHRTE

F—AR: atb
tiE = 2.5861, BEHE =9, P{& = 0.0294
I ARER: BFHOER, 0TEEL
95 N\—tU MEERXME: 0.1127462 1.6872538
ZARHETEE:
EDFHE
0.9
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WilcoxsonDRISU SIBLUAIEEET DE

wilcox test(a,b,paired=T)

31

DAV VDS AFHIRELFIARTE GEFTIEDFHIE)

F—H: atb
V = 32.5, P{&E = 0.04033
X3k ER: location shiftld, 0TIz Ly

Z2EAvE—-Y:

1: In wilcox.test.default(a, b, paired = TRUE) :
BADHBI ., IEFER p EZEFHETHENTEEEA

2: In wilcox.test.default(a, b, paired = TRUE) :
POEDTZ8. IEFER p BEETETHENTEFEN

source("all.R", encoding="euc-jp")
wilcox.paired.test(a, b)
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D4 U OFESMIBELLIRE GEHKMEDHHIE)

—2 x &y
= 32.5, Pf&E = 0.04033
xt3L{kREi: location shiftlk, 0TI&#ALY

£

ZEAyvE—

1: In wilcox. test. default(x, y, paired = TRUE,
cannot compute exact p-value with ties

2: In wilcox. test. default(x, y, paired = TRUE,

cannot compute exact p-value with zeroes
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F—HR: akb
tiE = 2.5861, BEHE =9, P{& = 0.0294
XAIARER: BFHOZEE, 0TEE L
95 N—tY MEREXM: 0.1127462 1.6872538
EARHEEE:
ENFHIE
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X —tx _,uS)_(+t><

Sls
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X —qt(0.975,n—1)x SE < 1 < X +q#(0.975,n—1)x SE

38

Aft| 6 |4 | 4|4 | 6| 54| 6|46
B#| 5|14 | 3| 3|53 |5|5|4)| 3

AL DTN O 5% IEFREXE
X —qt(0.975,n—1)x SE < u < X +q#(0.975,n—1)x SE

mean(a)-at(0.975,length(a)-1)*sd(a) /sart(length(a))
(1] 4.188628

mean (@) +at(0.975,length(a)-1)*sd(a) /sart(length(a))
(1] 5611372
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BIS7D .
Lt r
¢ <- rbind(a, b) ~
m <- apply(c, 1, mean) R
s <- apply(c, 1, sd) . b
se.a <- qt(0.975, length(a)-1)*sd(a) /sart (length(a))
se.b <- gt (0. 975, length (b)-1)*sd (b) /sart (length (b))
se <- c(se.a, se.b)
names (se) <- ¢( “a”,”b”)
par(cex=1.8, lwd=3)
x <- barplot (m, ylim=c (0, 8), names. arg=names (c) )
arrows (x, m-se, x, m+se, angle=90, length=0.1)
arrows (x, m+se, x, m-se, angle=90, length=0.1)
text (2, 7, “mean=+=95%C. 1. )
text (1. 68, 6, “N=10")
40

NgI>2

x <- plot(1:2,m,

xlim=c(0.5,2.5),ylim=c (0, 8), type="b", xlab="", xaxt="n")

arrows(1:2, m-s, 1:2, m+s, angle=90, length=0.1)
arrows(1:2, m+s, 1:2, m-s, angle=90, length=0.1)
axis(1,1:2,¢("a”, "b”))
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BASNEMREHEZBRA

a<-c¢(6,4,4,4,6,54,6,4,06)
b<-¢5,43,3,53,5,5,4,3)
t. test(a, b, var. equal=T)

41

“ERRE (DEAFELVERETESEE)

FT—H: atb

tfE = 2.0769, BHE = 18, PfE = 0.0524
XIRER: BFHOER, 0TEHGEN
95 /N—t > MEFERR: -0.01039955

SR EE:
FigfEx Fi9fEy
4.9 4.0

1. 81039955

> summary (t. test (a, b))

Length Class
statistic 1 -none-
parameter 1 -none-
p.value 1 -none-
conf. int 2 -none-
estimate 2 -none-
null.value 1 -none-
alternative 1 -none-
method 1 -none-
data. name 1 -none-

Mode
numer ic
numer ic
numer ic
numer ic
numer ic
numer ic
character
character
character

42
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> t.test(a, b, var. equal=TRUE) §statistic
t
2.076923

> t.test(a, b, var. equal=TRUE) $conf. int
[1] -0.01039955 1.81039955

attr (, “conf. level™)

[1] 0.95

> t.test(a, b, var. equal=TRUE) $conf. int[1]
[1] -0.01039955
>
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